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4[ 1165542 & BB A7 2 OMmEELITEE) 39m18



ZF+ 100m FiE (2#355+2)

[148] ( -0.8 m)

1[ 4164704 H B9 3% 1 (FHIE %) 14,93
2[ 616562 5N TE 1 (haEEiiiaig) 14. 05
3[ 3]6418 K A I AN 1 (GrEFFFEEAR) 14. 69
4 5164688 & BE A1 FHE &) 14. 82
5[ 8]64429% &3 Hhi A8 1 (FH K& /& #%) 14. 92
6[ 716525k & G #E 2 (HERERRK)15.45

P
( +0.3 m)

1[ 516470HF H B2 3% 1 GRS &) 1292
2[ 6]64957E & 25 25 2 (BT & #)13.77
3[ 316562;EHN TE 1 (haEERFHR)13.92
41 8]6441/)Mpk ﬁfzjéd (FH 1% ™ %) 14.16
5[ 41646715 i ¥ 451 (PR HER) 14. 23
6[ 716418 K Hli & jJn1 (hERAEERAR) 14. 72
T[ 11642280 32 2 35 1 (GEEARERRR) 14. 74
8[ 2]6468% & B B 1 (FHEE &) 14.76

ZF+ 200m FiE (2#355+2)
[148]) ( +0.2 m)

1[ 4164704 FH B 3% 1 (PR s %) 3822

2[ 5164167 H k45 R 2 (GEEFRFEER) 29. 09

3[ 716506 H J5i 32 &~ - 1 (L BT & #£)30. 10

41 664158 A 3Z i 2 (GHEEEERAR) 30. 93

50 3164427 &5 #i AR 1 (FH & & #2)31.13

iR Bk
( 0.4 m)

1[ 5164704 B9 32 1 (FEJB U %) 35,86
2[ 6164667 15 % S 1 (PG %) 28. 73
30 3164167 [ i 2 5&2 (GrERREERN) 28. 79
AL 4164671 i % 25 1 GFRIE HLE4%) 29. 39
5 81643005 HE 3 $% 2 (1 6 5 129, 97
6 7]650683@%/: + 1 (5 BT & #2)30.10
70 2164155 K 32 #iF 2 (GrEAEZREER) 31,00
81 1164423 & AR 1 (1 /& & 1)31.55

ZEF 400m REE

10 21656335 A [5 & 1 (MaEERfER) 1:04. 50
2[ 416416 7 H #4542 (GHIEARFEER) 1:04. 54
3[ 5]64657% BF  E 2 (FHFE H &) 1:05. 96
4 6]6466 7 & 1% 25 1 (FHE &) 1:05. 97
5[ 816506 M J5i 32 ~ - 1 (5 BT & #%)1:09. 22
6[ 3164691 H {41 GEEHER)1:11.74
7[ 716525k & S #E 2 (ABEEER)1:14.09

[248] ( +0.3 m)

10 6164959842 H 5 2 (5 BT & ££)13. 85
2[ AJ64671% BE B 2= 1 (FHIBRE) 14. 22
3[ 5]6441/)\pk ﬁﬁil (FH 5 & %) 14.25
41 716422 167 3% 2 £ 1 (GRIEREERRR) 14. 82
5[ 3]64153 A 32 fi 2 (GHEREFEAER) 14. 97
6 816527 H #HrEA 2 (REREER)15.88
70 216523 K T T =2 (HHEREESK)16.06

[248] ( +0.3 m)

10 4164665 48 1% &5 1 (FRBE &R 28. 75
2[ 51646715 i ¥ 43 1 (FAFE B &%) 29. 50
3[ 3]64394 ik H f&2 (FH & & #)29. 57
41 6]6418 K Aifi & AN 1 (briEskzEAR) 32. 30



ZF 800m REE

10 416563% A B & 1 (MEEERTRER) 2:32. 37
2[ 5164657 BF 2 (FHEE &) 2:33. 64
3[ 2]64135% )11 4L £% 2 (GrEFFFRAR) 2:35. 41
41 3164407% H 220 1 (FH & & &) 2:43.98
5[ 1164215 (11 #8 5% 1 GHEAREEER) 2:46. 29
6 8]6493k H & 2F 2 (5 BT & 1£)2:51.76
7[ 616525k & 3 # 2 (HEEEER)2:51.80
8[ 716423kA A Z2 F C 1 (GHEAKFEER) 2:59. 02

XF 1500m R

10 116419 KRS 2 ¥ 1 (GrEAEFRRER) 5:42. 03

20 2642188 (LI 8 % 1 (GrikEFEARD5:44.15

3[ 4164205 (11 B5 2 1 (brHARFHRR)6:13. 67
[ 316493 H 18 3 2 (7 BT & &) Ri5

TF 3000m R

10 1164135 Il 4L 45 2 (AEEARFEAR) 11:57.03
2[ 2] 6419j(J|IJ?71</?{’7§1 (SLIARZRAI) 13:17. 83

ZTF 400mHI[0.762m] R

1[ 4164950638 5 2 2 (5 BT & 48)1:23.78

ZF 500 0mW R

1[0 1]64405% & 2> 0 1 (FH JB & £)31:51.98
[ 2164937 H  # 2F 2 (F BT & ) R EHE

ZF 2000mSCI[0.762m] Rp%

10 1164208 (L B 2 1 (bRERRERER) 9:44. 38
2[ 216423k A% B 1 (GRIEREZRER) 10:06. 56
OP[ 3165091 & /N B 3 (5L BT & %) :29: 90

TF 4xXx100mR R

TIATHE B R = A2 (64671 il 2 43 1-6470KE B 32 1-6466/H £% 1% 451 6465 HF  #£2)53.40
2[3]1J5 T /& KZ(64957E 875 % 2 6506 H JFi3% &« 11 6507k £ £ {E 1 6504/ J5 %%1%5.49
S[7T]5SEERELEAN (6418 K Al T N1 641677 HFRZS AR 2 6422 IR 352 2« 35164153k A 321 2) 56. 74
4[5]140 B & FR(6441/MK 2 6164300 ik B 452 644205 55 #E A0 1 64405% & 7> 0 1)57.30

( )

S5[6]MHGRIERB (6526 K B #H#E2 6527 H WREA2-6523K I T &2 65229 H ¥t 3£2)1:01. 17

b><\

><‘

TF 4Xx400mR R

1VTATH S B b2 (646714 i T2 Z51-6465%5 BF 12 646075 [ (£ 451 646615 16 15 251)4:24. 55
2 (7] SRR 2RAER (64167 RS R 2 6419 K JF3E ~ ¥ 1642158 111 #8551 641357 )1l L 252)4:36.08
3[514H 5 1 A2 (6441/bk 30 25 164300 E 152 644075 & A 1) 1 64420 45 AR 1)4:36.57
( )4:3
( )5:0

><\f><\

A[3]J5 BT & BZ(6495)E Y87+ % 26506 FH 3 ~ 11 6493 - 48 2£2 6504/ 7 #hifE1 8.49
S5[6]FE BEEK (6525 K & #EIE2-6527TH H 7RFA2-6623 K T T =+2-65220N H i 322 4.57
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T+ EEBk RE

1[ 116439 i E #& 2 (B & & ) 1m30

XF ENREk R

10 616441/Nbk ExE 1 (FH 15 & £)4m64 0.9

2[ 416506 FH 532 ~ 1 1 (5t BT & #2)4m21 +0.5

3[ 1164228 I8 3 # 26 1 (GHEFEFEER) 3m95 +0. 1

41 316562;EH N TH 1 (haELfliER) 3m94 +0.1 3. 89

5[ 5]64145 A 3 = 2 GEEAFZEER) 3m94 +1.5 +3.82

6[ 216417250 H F] % 1 (SHEAKRFRAR) 3mOT +2.6 2458 2m97 +0.5

ZF fadix[4. 000kg] REE

1[0 516504/ J7  #fi = 1 (L HT /& 4) 8m82
20 4164944 1 X 4iv 2 (5 B & %) Tm66
3[ 316522/ 1 it 3% 2 (HAS /=3 mi1) Sm06
41 116527H J+ 9K BA 2 (ISR 4m88
5[ 2]6523K T T =3 2 (HERERE) 4m80

ZF F#ER[1.000kg] R

10 616494% M B 7 2 (5 0T & ) 21m89
2[ 516523 K T T =2 (HERESK) 20m48
3[ 316504/)n 7 #h £E 1 (5 BT & £2) 16m91
41 4165228 it 32 2 (S B EAEK) 13m89
5[ 11641772 56 E A% 1 (GHEREZRAR) 13m80
6[ 2164148 A L 2 (GHEARFRAR) 13m47

T+ /N Y—x[4.000kg] RRE

10 176494H | &2 A7 2 (5 BT /& 4% 18m05

ZF ©Yx[0.600kg] R

1[ 5]6504/N 5 #h £ 1 (5 BT 5 £)32m85
2[ 4]64957E 8 2 H % 2 (BT & K) 27m05
3[ 116496 kK & Bh 4% 2 (5L HT & %) 23m41
41 21652791 WK EA 2 (MEREESRK) 19m23
5[ 316522/ H ¥t 32 2 (HEEE&ER) 16m19



hEBEF1E 10 0m R QM

[1#8) (  +0.8 m) [2#48] (  -1.4 m)
1[ 3166604 M [l £ 1 (GHTkEZEMER) 13. 31 10 416607/ JII & 2= 1 (R —H5) 12. 67
2[ 61662017 & B R 1 (A EEAR) 13, 38 2[ 5166597 . #E 5n 1 (brEAEERTER) 13. 41
3[ 5166817 H 1 (RETH =#5)13. 97 3[ 316671 A %= &1 (WEHK)15. 60
41 41662945 Bk #F &= 1 WoRTAEZ0EERE) 14. 87 4] 6]66213% i & 1 (A 2#%)16.02
5[ 71667211 N - 1 (WEEHFFR)17.10
08 O

[] SRy . |

16607/ )11 & 22 1 (RHETE— i) 12. 67 -1.4
2 6660 K M W A 1 (SRIRREETER) 13,31 +0.8
3662000 & PR R 1 (M F 10 13.38 +0.8
4 6659 5 S o 1 (BEEARFRETER)13.41 1.4

¢%%%2E 100m /*H#

-0.6 m)
1 [ 4]16643% Mt K2 (RETH HER)12. 77
2[ 6166304 i B 0> 2 (GrEARZEED 14. 72
3[ 316626k B B EE 2 (WorTAZ0ETR) 17. 60
[ 51667008 5 1% A= 2 (W TAE0ERE) Ri5

hZEBEFHE 200m R

( +0.9 m)

1[ 316633 K B 1 &k 2 (BrERkERTER) 25. 52
20 516607/ )11 & 72 1 (RETH—H£) 26. 26
3[ 4166395 & pk 2 (RIS k) 27. 35
41 1]16682%k & k& s 2 (1IN HE4%) 27. 69
5[ 6166301% jiE I O 2 (SREARERTER) 31. 21
6[ 816671 A %= & 1 (WEEHIK)32. 84
70 7166213 2 & + 1 (Fahrh=2E4%)33. 96
8[ 2]166721L N % - 1 (M3 524%)35. 19

hFBEFHE 400m RE
10 416633 K 8 1 &k 2 (brikrEET %) 59. 29

2[ 3166618 A ol & 1 GHEEEZET2R) 1:05. 96
3[ 516645 & SE 2 (RIS “h3R) 1:08. 37

10 3166614 A
2[ 416609 (L M
3[ 51666879 % ¥

(SrIRRERTER) 21 30. 22
(AT — 1) 2:40. 97
(BEIRRFRTER) 2:43. 53

hE=EBEFHE 80 0m RiF
el
1

~r
A
3
P



hZBF 14 1500m R
10 11665711 FHdk 1 GriEEkFET#R) 4:59. 60
2[ 3166084 F #¢ /=1 (FHH—m4)5:10. 21
3[ 216669 A& B 4 1 (GrEEEIEMH) 6:00. 93
41 416629%5 Bk M EH 1 R THENEEE) 6:26. 52

mEEF24F 1500m ,;'EH#
1[ 116618 H F B 72 2 (Faphi) 4.3
2[ 3166057 B 0 - 2 (EHTH—hopfr) 440 06
3[ 2166324 B — R 2 (GEEAREETE) 2]
41 416670M J5 1% 4= 2 <w~f:1ﬁm@m§

X

5[ 51662642 &K Bl B 2 (W TEZ0E%E) L4

h#BEF 3000m REE

1[ 1166180 T #8222 CAfprh4%)10:18. 19
2[ 2166057 BF .0y 2 (FRrE—EE) 11:21.00
3[ 4166604 H [l 4 1 (briSREFENER) 12:44. 20
41 3166594 HH i #= 1 (GrikksEtE) 12:44. 27

hEBEF 14 100mY HI[0.762m/8. 00m] R

( 401 m)
10 31664784 (L K M1 (ERTE - hoet) 29,84

hEEF24 11 0mHI0.914m/9. 14m] REs

( 0.0 m)
[ 3166444 W% 55 71 2 (RETH i) Rig

hZFEFHE 4Xx100mR R
1[3]FBTE ¥R (6644 1% BB 42 6643F B K 2663988 A Rk EL2-6647H8 (L JCH1)51. 26

2 [4] brEARRFEDER (66604 H HIJEI 6633 Bk {fi ik 2663014 fE I 00266594 1 b sz1)51.50

PEEBT 25 ESB RE

10 116678 M o K I 2 (RETE=HE) 1m25

REEB T 24 FENREE R

10 1166438 &t K2 (RETE %K) 5mi6 +0. 8



EF'%#?1E 10 0m R

-0.2 m)

1[ 516649/ K FESET- 1 (FRTE ) 14,12
2[ 3]665475 /% FRESE 1 (RETH —H%8) 14. 19
3[ 416623 £ JH B 1 (AP =24%)14. 35
41 8166561 & 4B 22 1 (brEikEETED) 15. 07
5[ 1]16658% 5+ ¥4 %V 1 (briARZE#) 15. 16
6[ 616675 = & ¥ 1 (WEHFIK)16. 41
70 216673 %L BF 2 N 1 (W93 524%) 16. 51

[ 7166107% & % 16 1 (RrE—42R) Ri5

hE4F 28 100m R
( 0.4 m)

1[0 61664075 e R 48 2 (RETHE _h3R) 14. 25
2[ 41664672 B& £ 2 (FETHE %K) 15.15
3[ 5]6655%F H 1% 2 (GHEFEZETER) 16. 80
A[ 3]66776K & N7 2 (WIEF224%)18. 16

hZ2ZFHE 20 0m R

(  +0.8 m)

10 316623 = JH B¢ 1 CAMH51%) 29. 61

2[ 5166314 L 2 (brUkEERETED) 31.04

3[ 716655 M & 2 (bribkEsEdiR) 35. 71

4 4]166764% H 3£ b 1 (MEEEH742) 35. 90
[ 6166527572 70 A1 (FETH ) Ri5

heZZFHBE 80 0m R

10 4166064 B [5 32 2 (RETH—f5#)2:29. 26

2[ 516622/ A& ZE H%El (At 2:34. T1

3[ 6]6650F FI B 1 (RITE h3i) 2:57. 14

4 8]6653 F A 2 & 1 (FATHE_3#)3:01.18

5[ 31662713 &~ 122 (W AZE0EFR) 3:30. 59
[ 7]16628%2 [l (£ A 2 (W THL0ESR) R 15

hmELZF1E 1500m R
1[0 216622/ Bk £ BF 1 (AP 5R5:35.00
2[ 1166567 & B 22 1 (GrIEEEERET2R) 6:30. 02

h2LF2F 1500m R

1[0 116606 B 5 3¢ 2 (RETH 1540 5:29. 84

L F 24 10 0mHI[0.762m/8. 00m] R

( -1.2 m)
1[ 316631 2 % 2 (HERRAE®H) 21. 51



24 FHE 4%Xx100mR REE

151JRRT ~Hefhe (664075 i R 4B 2 6649/ bk (E3Z 11 664674 /i 25 ]2 665475 )% FRME3Z1) 55. 36
2 [4]SERARFETFR (665855 &F 74 40 1-6656H &5 & 221-66557 M 12 66314 B2 §22)59.24
S[3]H HE - 2 (66764% I SEWe1-6675 = 3 1-66735 5 N1 667442 A& Fjf1)1:04.92

hEFHE ESBk RS
1[ 3166164 i 75 3% 2 (R =H%%) 1m20
2[ 11662842 [l = HH 2 (WETHEZNEZR) 1m15
3[ 2]6627H 7=  J22 (WETHZNEZR) Im10

REFEZF 1 F ERBE R

11 116610% HE 7% 6 1 (RAG— 05 4n09 +0.3 K&
2 31665257 50 A 1 (RATH 05 n04 +1.1 K2
3[ 416625 = i 1 (GHRHIERD 02 +1.2 KR
4T 21665100 M BL - 1 (RO PFH) 3n04 +0.2 K2

LT 2 & EIEDE R

10 11664103 72 o\ 2 (REE ZF5E) 4m13 -0. 4

gk 7 14 FIALIRI2 T21ke] SRES

1[ 31661245 A& 4F #E 1 (FEF—F5E) 8m92 REH
2[ 2]166115F PN o0y BE 1 (R — K 6m26 RKEH
3[ 11667445 A Hj FY 1 (H4ZE 1 224%) 6m09 RKEFH

i 7 24 FAALIR[2 T21ke] SRES

10 116617 AR 0% 5 7 2 (REH =) Tm82



